A— M E TR
[BEEF] vornzxnr  (1X) 2074—

¥ & | (27H) (28H) (30H)

[ 31] 152 [ 73 ] 11:28 [ 132] 8:24
( HaRRSRK w ) — ¥5—4 — 2 HER2-—4
( FLEERY ¥ ) —— Y4—-—4 — R 2 —2

2
3 3

( b= &k BAR ) —— 4 F4—-1 — 4 HER2 -1
5 5

E ¥
S

N
7

m

x>
(&2 I O R
BOooH W oo S
b
S

ITOER (NTTIHRAAR ik ) —— ¥5—-—1 — Yk 2 — 3
R O(RrEa gF ) 5 % Gom)
[ 32 ] 13:00 [ 74 ] 11:36 [ 144] 10:34
T &’ (dEBBRC  HWHE ) — 2 F5—-3 — 2 MER1—4
2 [ B (R ARY AW EE ) —— 5 3 T4—-3 —— 3 HER1—2
B 3 KMWME (KK=ZK OB )— 4 T4—2 —— 4 HER1 -1
48 KRR (R A®EK ®BE ) — 5 F5—2 — 5 WR1-—3
5 b ¥ 3B (JbimEsR Sk ) — R ] 2om)
[ 45 ] 15:02 [ 107] 12:36
I = FER (Z&F2%K Bk )— 2 H2—2 —
25 E R (& E2HR BX )— A 3 F2—4 —1
C 3®HmE (& K%Y xRk ) — 4 T1—-1 —
4 % R (MEWELER EH ) —— 5 F¥3—1 —
5 K o | (KR REK AR ) —
[ 46 ] 15:10 [ 108] 12:44
1S BB (BB HHEO) — 2 2—1 —
2 KRR (RS wiE ) —— 5 3 ¥2—3 ——
D 3 #h&JIR (M&)IRsE o ) —— 4 FT1—-—2 —
4 FoERLR (Fodol Rk KB ) —— 5 F3—2 —
5% g R (4w m mm ) —
[121] 14:46
2 W1-—2 —
c 3 F2—2 —
4 F1—3 ——
5 F¥3—3 —
[ 122] 14:54
2 E1—-1 —
3 F2—1 ——
Py 314
5 F¥3—4 —

BeE 15 LU ORLAE O A
T1—1 TARNANRL 1 LD & A KE 1AL
-1 WCHENERT 1 A7 D & A LIE 1 A7
Y1 — 1 YERBEIARL 1 200 & A AJE 1AL




